Question Mo : 1 of 26

Marks: 1 (Budgeted Time 1 Min) =

In compilers, linear analysis iz also called :

-

Answer | Please select your correct option )

Lexical analysis
.
Sranning
c
Lezical analysis and scanning Correct Answer Solved By Hadi
C usmanraj20@gmail.com
03228043306
MNone of the given
C -
Weade By: Wacger Siddhu




Question No : 2 of 26

Marks: 1 (Budgeted Time 1 Min) =

Back End of two-pass compiler uses algorithin.

-

Answer | Please select your correct option )

Gin)
-
Oinlogn
P
WP Complete Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of the Given
C -
YWeade By: Wager Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) =

The Back End of a compiler consist of

-

Answer | Please select your correct option )

Instruction selection Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
Register allocation
c
Instruction scheduling
c
All of the given
C -
Weade By: Wacger Siddhu




Question Mo : 4 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

In Back End module of compiler, optimal register allocation uses

Answer | Please select your correct option )

Oiflogn)
-
Oinlogn
P
I P-Complets Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of the given
C -
Weade By: Wacger Siddhu




Question Mo : 5 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

A lexeme 1z a sequence of characters in the source program that iz matched by the pattern for a

Answer | Please select your correct option )

Linker
-
Token
P
Centrol flow
o
Hone of given Correct Answer Solved By Hadi
o usmanraj20@gmail.com -
03228043306 mdde BS- mdqdl' Slddhu




Question Mo : 6 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

is a regular expression for the set of all strings over the alphabet {a} that has an even number of 8's.

Answer | Please select your correct option )

aa*
-
(aa)™ Correct Answer Solved By Hadi
© usmanraj20@gmail.com
03228043306
aa*a
o
afaa)*
o -
Weade By: Wacger Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) =

TWhat kind of abstract machine can recognize strings in a regular set?

-

Answer | Please select your correct option )

-

DFA Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
NFA
PDA

MNone of the given

YWeade By: Wager Siddhu




Question Mo : 8 of 26 Marks: 1 (Budgeted Time 1 Min) =

algorithrn iz used in DFA minimization, -

Answer | Please select your correct option )

Tates's
.
Robert's
c
Hoperoft's Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of given
C -
YWeade By: Wager Siddhu




Question Mo : 9 of 26

Marks: 1 (Budgeted Time 1 Min) =

In DF A munitmization, We construct one for each group of states from the initial DFA.

-

Answer | Please select your correct option )

-

State Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
NFA
PDA

MNone of given

YWeade By: Wager Siddhu




Question Mo : 10 of 26

Marks: 1 (Budgeted Time 1 Min) =

In Flex specification file, different sections are separated by

Answer | Please select your correct option )

ki Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
&dr
&
i
o
MNone of given
o -
Weade By: Wacger Siddhu




Question Mo : 11 of 26

Marks: 1 (Budgeted Time 1 Min) =

Recursive parsing iz done for LL(1) grammar.

Answer | Please select your correct option )

Decent Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
Ascent
P
Forward
o
MNone of the given
C -
YWeade By: Wager Siddhu




Question Mo : 12 of 26

Marks: 1 (Budgeted Time 1 Min) =

Parser talees tolens from scanner and tries to generate

Answer | Please select your correct option )

Binary Search tree
-

Darse tree.

Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306

Binary Search tree and Parse tree

MNone of the given

YWeade By: Wager Siddhu




Question Mo : 13 of 26

Marks: 1 (Budgeted Time 1 Min) =

ig an important component of semantic analysis

-

Answer | Please select your correct option )

-

Code checling
type checking Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
Flush checking,

MNone of the given

YWeade By: Wager Siddhu




Question Mo : 14 of 26

Marks: 1 (Budgeted Time 1 Min) =

In predictive parsing table, the rows represents

Answer | Please select your correct option )

Terminals
.
Both nen-terminal and terminals
c
on-terminals Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of the given
C -
Weade By: Wacger Siddhu




Question Mo : 15 of 26

Marks: 1 (Budgeted Time 1 Min) =

In LL(1) parsing algorithm, containg a sequence of grammar symbols.

-

Answer | Please select your correct option )

-

Stack Correct Answer Solved By Hadi
usmanraj20@gmail.com
03228043306
Link List
Array

MNone of the given

YWeade By: Wager Siddhu




Question Mo : 16 of 26

Marks: 1 (Budgeted Time 1 Min) =

Congider the grammar

ASBCD
B—hB|s
C—Cglg|Chli

Answer | Please select your correct option )

hogi Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
g
&
h
o
MNone of the given
o -
Weade By: Wacger Siddhu




Question Mo : 17 of 26

Marks: 1 (Budgeted Time 1 Min) =

Congider the grammar

A—>SBCD

B—hB|s

C—>Cglg|Chl|i
first of B is

Answer | Please select your correct option )

hi
.
h s Correct Answer Solved By Hadi
& usmanraj20@gmail.com
03228043306
g
o
MNone of the given
c -
Weade By: Wacger Siddhu




Question Mo : 17 of 26

Marks: 1 (Budgeted Time 1 Min) =

A—=PBCD

B—=hE|s

C—=Cglg|Chli

D AE|s
Frstof B 1s

4

Answer | Please select your correct option )

h, i
-
h, ¢ Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
g
o
MNone of the given
C -
Weade By: Wacger Siddhu




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) =

Congider the grammar

ASBCD
B—hB|s
C—Cglg|Chli

Answer | Please select your correct option )

hg
-
h
&
hogi s Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of the given
(-‘ -
Weade By: Wacger Siddhu




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) =

A—=PBCD

B—=hE|s

C—=Cglg|Chli

D AE|s
Frrstof D 1s

4

Answer | Please select your correct option )

hg
-
h
P
hogi s Correct Answer Solved By Hadi
o usmanraj20@gmail.com
03228043306
MNone of the given
O -
Weade By: Wacger Siddhu




Question Mo : 19 of 26

Marks: 1 (Budgeted Time 1 Min) =

Congider the grammar

ASBCD
B—hB|s
C—Cglg|Chli

Answer | Please select your correct option )

h§
(.

4

MNone of the given

Yeade By: Wadger Siddhu




Question Mo : 19 of 26

Marks: 1 (Budgeted Time 1 Min) =

A—=BCD
E—-hE|=
C—=Cglg|Chli
D—>AE|e
Follow of Dis _

4

Answer | Please select your correct option )

h§
(.

4

MNone of the given

Yeade By: Wadger Siddhu




Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min) =

parsers never shifts into an error state.

-

Answer | Please select your correct option )

L3
-
LT
&
LR :
o Correct Answer Solved By Hadi
usmanraj20(@gmail.com
032730 /ll 313 Oﬁ
LP
o -
Weade By: Wacger Siddhu




Question Mo : 21 of 26 Marks: 2 (Budgeted Time 4 Min) =

-

TWrite a regular expression for the language of all words that starts and ends with different letters.

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial =iz = m e o= ==

i Weade By: Weadgelr Siddhu



Question Mo : 22 of 26

How linker plays an important role with respect to compiler construction?

Marks: 2 (Budgeted Time 4 Min)

Answer | Please click here to Add Answer )

-

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial o | EFEEE = =

Weade By: Weadgelr Siddhu



Question Mo : 23 of 26 Marks: 3 (Budgeted Time & Min) =

-

Can we call shift-reduce parsing as bottom up parsing? Justify your answer with reason

Answer | Please click here to Add Answer )

INnrmaI A [rial | [

i Weade By: Weadgelr Siddhu



Question Mo : 24 of 26

Marks: 3 (Budgeted Time & Min) =

Congsidering the following grammar, caleulate the first set of non-terminals 5, & and B.

3 — AB
A— ale
BE— ble

-

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
INnrmaI ;IIAr\aI ;”12 LI B I HH%E :

Weade By: Weadgelr Siddhu



Question Mo : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =

Suppose that you are going to construct a compiler for a regular language and currently you are constructing a sutable predictive parsing from the grammar. If vou have a production rule which is not
clear to expand a non-terminal then how will you handle this stuation and what will you name this procedure.

Answer | Please click here to Add Answer )

= e 0 P 0 e A |
Jriormal A [rial i | A =

i Weade By: Weadgelr Siddhu



Question Mo : 26 of 26 Marks: 5 (Budgeted Time 10 Min) =

Considering string "ab", show that the following grammar is ambiguous using parse trees. The - below is epsilon.

2 = ABAB
A —ak | s
B =bB | = L

4

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial =iz = m e o= ==

Weade By: Weadgelr Siddhu






